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 20E ECON
2020
ECONOMICS
Full Marks : 100
Pass Marks : 30
Time : Three hours
The figures in the margin indicate full marks
for the questions.
PART-A (Reia-%)
Q. No. 1 (a-f) carries 1 mark each 16 = 6
Q. Nos. 2-7 carry 2 marks each 2x6 = 12 -
Q. Nos. 8-12 carry 4 marks each ' 4x3 = 20
Q. Nos. 13 & 14 carry 6 marks each , 6x2 = 12
- A o * Total = 50
PART-B (Feto-2)
0. No. 15 (a-f) carries 1 mark each 16 = 6
Q. Nos. 16-21 carry 2 marks each 2x6 = 12
Q. Nos. 22-26 carry 4 marks each =~ . - 4x5 = 20
- Q. Nos. 27 & 28 carry 6 marks each ' 6x2 = 12
' I : ~ Total = 50

Total (Part A & B): 50+ 50 =100
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'~ PART-A

fTeta-=
1. Answer the following as directed : | ' - 1x6=6
- Qo e i ¢
. (@) What is.arithrﬂetic mean ?

AT A P Q@A 2
(b) What is Statistics ?
 offden Resw e

(c) Write a source of secondary data. ‘

(M YR Bt T Tl
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- (d) In sampling method, every item/several items is/are studied.

* (Choose the correct answer)

e stafvs @bt e afUBt) IO G S T
| | (o7 Sew 1R SR

I(e) The measure of central tendency which divides a series in two equal
- parts is . - (Fill in the blank)
. . ) . N
B! (T I it T (R RO TN T 1

(T} 312 27 1)

() Define ffequency'- polygon.
IS RpeR A |
2. Mention two characteristics of statistics. | . : 2

sif{os R 75y tafiey S ==
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3. What do you mean by sampling error ? Describe briefly. - ' 2

oforT @ e B3R o2 B

4. Write two differences between primary and secondary data. ' | 2

s B WE (M SR 7o AL FER

5. What do you mean by Index number ? . : | 2
HHiS I & g@e
6. What is Geographical distribution and Chronological distribution ? 2

ST e o IEHEEe T [
7 What.is‘ the relationship éirhong Mean, Median and Mode in case of symmetricai
"and asymmetrical distribution ? R

meﬁ@mmm,ﬂwmww»m««@?
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8. The marks of 30 students in Economics have been given below :

© Oew 30 mm—ﬁawﬁ%ﬁw@cwwﬁmms

59 34 81 23 41 75 45 55 64 35
29 48 62 38 27 04 39 80 51 47

19 72 90 52 61 37 15 79 49 36

(@) Prepare a frequehcy distribution table from the data given. 3

AP S 4 ARSIt e 79|

(b) From the table, show how many students have scored less than 30.

1

AR SRR 1 YIS R T2 30 3 TS AZT= (e

9. What is Random sampling ? Mention various types.of Random sampling.

| 14324

e efen g A foe @ srafen Rivw emmnE Sme w1
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10. Calculate arithmetic mean : e e o 4

e Wy el 4t ¢

Class ‘Int‘erval 0-10 10-20 20-30 | 30-40 | 40-.50
et W
Frequency | 5' _ 12 | 8 10 S
?;‘Iﬁ"@'ﬁ@i

or [ 93

The average welght of 50 boys in a class is 45-5 kg. If the average weight of

30 girls is 35:5kg, then ﬁnd out the combined arithmetic mean of the welghts

of the boys and girls of .that class. _ 4

! caﬁﬁ—wsommewmwﬁ—ﬂ%swlmm@wso AT QAR ST
%ﬁssskg@,mcanWwGwﬁwm? '

11. What is correlation coefficient (r)? Define perfect cor:elaﬂon, zero correlation

 and limited correlation. L ‘ 4
TR SN (r) Rt o{ef TR, [ I I A FPATR T |
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12. Find out mode :

e Refa e
Marks 140-145 | 145-150 | 150-155 | 155-160 | 160-165
39
No. of students 10 8 30 16 6
RIqY TR

Or/ﬂﬁ?f'

Whether Median is'- affected by absolute value. Find out Median from the
following marks of 8 students. :

5 W NGNS

ﬁcﬁw;

1+3=4

TS AOR (FIFTI] SAIAT ? T© 8 RIG! Qe 79 Tt wiiem | ey

80, 41 25, 31, 56, 48, 12, 30

J

13. What is dispersion ? What are the different measures of dispersion ? Write
the necessities of measuring dispersion. . .

2+2+2=6

Rt 31 foewt i e Rt e o7z s o Room e S e

or [ 74t
- Find ‘out Quartile deviation -
vy Rivem el 3 ¢
X 0-5 .| 5-10 10-15 | .15-20 | 20-25| '25-30
f 6 10 20 - 12 6
. 20E ECON [7]
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14. What do you mean by cost of living index number or consumer price index
number ? Calculate index number from the following data taking _1980 as

the base yeér : 2+4=6

%Wwwwm@ﬂm@mwwqﬁmﬁwww@mﬁaw 1980
5 Tofe o B3piet ta paie Bfenedt ¢ I

Commodities Price Price
At | w s
G | OF
1980 2010
Rice (51%%1) ' 40 | - 50
‘Flour (SIio) 80 ‘ 100
Potato (W) | 50 70
Onion (f#fare) 20 | 40
oil (ce=) « S - ' 180 |
or/ 72t
Describe various steps of statistical investigétion. 6
o RER R [fed PR dqt 31|
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PART-B
feta-2

|5. Answer the following as directed : 1x6=6

(a) In India, economic reforms started in the year _

(Fill in the blank)

Wwﬁaﬁw_a@ﬁwﬁ | (3 3% A )

(b) 'Mention the name of one famous economist from colonial (Britiéh ruled)

India.

Ffow i oes go Are wdRfeRne A

(c) What is disinvestment ?
. R e
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(d) Mention one source of institutional debt.

ST A9 @B By vt

(e) How much percentage of Indian population presently live below poverty

line ?
| SIROT TG R i (I e SR O 57 < 2

(f)f ‘One child’ norm was followed in India/China/Pakistan.

(Choose the correct answer)- .

‘GF T S SRS /5 / Aifdwie e Wi (5% CGIh! AR Clerasy)

- 16. What was the main occupation of Indian people under colonial rule ? Write
the names of two goods mostly exported from India to foreigrﬁ countries

under colonial rule. | _ ‘ 2

qﬁzmﬁ*w—m%{a@wﬁswﬁ?ﬁiwmmﬁwﬁa
¢ RN 9B e A R
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17, Mention two steps adopted by the Government for rural development.

2

W@WIWW CeTr fﬁf.m"iﬁ'ﬂl

18. Write two schemes of poverty alleviation adopted by the Government of India.

5 °
SRS 5N WRES! [Hedd AR @R 79 S A

19. _What do you mean by human resource ? Mention one source of human

. resource. | - we 2 - B

TR e el R gEe T P iy Bt Rl
20. What is disguised and seasonal unemployment? ' o 2
T S PSRl FIF (AN 2

71. What do you mean by infrastructure ? Cite an example of economic

" infrastructure. ' - : 2

v

wﬁﬂﬁaﬁmﬁsqmww sl Bt Szt
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22. What is rural development ? What‘ is the necessity of rural development for

countries like India ? Explain. '1+3=4
A1) S 2 SIS R (e iy S sl ¥, et
or / 7
What is NABARD ? Explain its functions. | _ 1‘_f"3=4-
NABARD ¥ %M I e Sl
23. Mention four measures of poverty alleviafion in India. - ' - 4
.W@Wﬁ@m«'mﬁméﬁaﬁmﬂaw | B
Or / 733
. Mention four ééuses of unemp-loymen';. | ' . N | | 4

ﬁmﬂw»ﬁamﬁﬁrwqw:rﬁ|

24. What is agricultural marketing? Why should the agricultural marketing of

India be well-organized ?. . ‘ : ' 1+3=4

'wwqﬁm'%qm?wﬁwwgﬁ@m{ﬁwm?
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or [ 7z

What is inflation ? How does inflation harm the economy of a country ?

1+3=4

RIS [ JErFIe @ e weRIfS Wﬁ?ﬁ*ﬁ%ﬁ@m?

25. Among India, China and Pakistan, where the population bﬁrden is highest?
‘Girv.e an 'iAdea of the pdpulétion size of .th.atlcountry and write about the
_policieshdopted by the country for decreasing the g_'row£h of population. -

| | | | 1+3?4v

<

o1, S I AR TS G Tt GO (7S IDIRLe (R P Sk

aﬁwﬁ_wammW‘m e W%Wﬁfﬁﬁl. 4
| Or/\ﬂﬁz'?ﬂ o

‘Make a comparison between India and China regarding National Income,

birth rate, literacy rate and population growth.. : : 4

. w@n»w,wm,wwwmmwmwwﬁ«ﬂﬁw
ST | | | " |
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26. What is organic agriculture ? What is the difference between organic cultivation
and traditional cult1vat1on ? 2+2=4

Wﬁiﬁﬁ%{m?mﬁwmﬂ@ﬁwvn@ﬁw
27. Describff the achievements and failures of economic reforms in India. -

WWWﬂWWWW?@@i
| Or/ -'1'73?7‘
Write Vshort notes on : - - “ LN s 72+2+2=6
59 W %?n 8
(@) Liberalization

RSt o)

(b) Privatization

eI
(c) Globalization.
(MR | ' s -

28. What do you mean by sustainable development ? Explain how the environment
has been degraded by the developmental activities 2+4=6

mﬂ]@aﬂw%%qw mmﬁaﬂa‘w«w ﬂ%‘»ﬁ%wﬁ @fca?asﬂﬁ?tz
A B0 |
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or / T

an by environmental pollution? Gi
control envu‘onmental pollution. P Gire BomS measu;iss tg

W‘”aﬁl ot Wﬁ{%ﬁﬁs{wma@q GG G4 R A O @mm,mufmf@
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